
ALPHABET TEST 

Directions (questions 1 to 5) : Arrange the given words in alphabetical order and choose the one that comes first. 
01. (a) wasp  (b) Waste (c) War   (d) Wrinkle  (e) Wrist  
02. (a) Science (b) Scrutiny (c) Scripture (d) Scramble  (e) Script  
03. (a) Signature  (b) Sight  (c) Shrine (d) Shrill  (e) Shrink 
04. (a) Exhilarate (b) Ephemeral  (c) Entrench (d) Enterprise  (e) Enthusiasm 
05. (a) Grammar (b) Granary (c) Gradient (d) Grand  (e) Granule 

Directions : Arrange the given words in alphabetical order and tick the one that comes in the middle. 

06. (a) Reprimand (b) Reverence (c) Amazed (d) Acquire  (e) Disturb 
07. (a) Delude (b) Delirium (c) Defer (d) Demean  (e) Delete 
08. (a) Cathedral (b) Catenation (c) Abacus (d) Category  (e) Catalogue 
09. (a) Signature (b) Significance (c) Sight  (d) Sigh   (e) Sieve 
10. (a) Apology (b) Branch (c) Antigen (d) Antique  (e) Antipathy 

Directions  Questions 11-15 : Arranger the given words in alphabetical order and tick the one that comes at the second 
place. 

11. (a) Scissors (b) Scorpion (c) Schedule (d) Semester  (e) Sensitive  
12. (a) Manifest (b) Meticulous (c) meridian (d) Merchant  (e) Mercerise  
13. (a) Dialogue (b) Diabolic (c) Diagonal (d) Diaphragm  (e) Dialect 
14. (a) Express (b) Extend (c) Expire (d) Explode  (e) Expand 
15. (a) Niger  (b) Narcotic (c) Ninth (d) Nemises  (e) Never 
16. How many pairs of letter are there in the wore ‘BUCKET’ which have as many letters between them in the word as in the 

alphabet ? 
(a) One  (b) Two  (c) Three (d) Four   (e) More than four 

17.   How many pairs of letters are there in the word ‘HORIZON’ which have as many letters between them in the word as in 
the English alphabet ? 
(a) One  (b) Two  (c) Three (d) More than three  

18. How many independent words can ‘HEARTLESS’ be divided into without changing the order of the letters and using 
each letter only once ? 
(a) 2  (b) 3  (c) 4  (d) 5   (e) Can’t be so divided 

19. Which letter will be the fifth from the right if the first and the second, the third and the fourth and so on are interchanged 
in the word ‘COMPANIONATE’? 
(a) A  (b) I  (c) N  (d) O   (e) None of these 

20. If the positions of the fifth and twelfth letters of the word ‘GLORIFICATIONS’ are interchanged; and likewise the 
position of the fourth and fourteenth letters, the third and tenth letters, the second and eleventh letters and the first and 
thirteenth letters are interchanged, which of the following  will be twelfth letter from the right end ? 
(a) I  (b) O  (c) R  (d) T    (e) None of these 

21. Number of letters skipped in between adjacent letters in the series is two. Which of the following series observes this 
rule? 
(a) MPSVYBE (b) QSVYZCF (c) SVZCGJN (d) ZCGKMPR 

22. Which of the following series observes the rule, “Skip in between adjacent letters, increasing one letter more each time to 
build a set of letters” ? 
(a) ACFJLQ (b) BDGKPV (c) CEHLQV (d) HILPUZ 

23.  In which of the following letter sequences, there is a letter leaving two letters of the alphabet in order, after the letters 
placed at odd-numbered position and leaving one letter of the alphabet in order after the letters placed at even-numbered 
positions?  
(a) ADFIKN (b) BEGJLN (c) CFHKLO (d) DFIKNP 

24. Which letter will be sixth to the right of the third letter from left of the letter which is exactly in the middle of the letters 
in the series given below ? 

A B C D E Z Y X W V Q R S T 

U F G H I J K L M N O P A 

(a) F  (b) G  (c) Q  (D) R  (e) None of these 



25. How many A’s are there in the following series which are immediately followed by B as well as immediately preceded 
by Z ? 
A  M  B  Z  A  N  A  A  B  Z  A  B  A  Z  B  A  P  Z  A  B  A  Z  A  B  
(a) Nil   (b) One  (c) Two  (d) Three (e) More than three 

26. In the following series, count each N which is immediately followed by X but X is not immediately followed by T. How 
many such N’s there ? 
N  X  N  T  Q  M  N  X  T  M  X  N  X  C  N  Q  M  N  N  X  Q  N  X  T  X  N  A  M  X  N  X  M 
(a) 2  (b) 4  (c) 5  (d) 7  (e) 9 

27. Which one word can be formed from the following letters ? 
a   a   d   e   f   g  r  s  u 
(a) Stagnation  (b) safeguard (c) pseudo-grade  (d) grandson 

28. The letters of the word NUMKIPP are in disorder. If they are arranged in proper order, the name of a vegetable is 
formed. What is the last letter of the word so formed ? 
(a) K  (b) M  (c) N  (d) P  (e) U 

29. If it is possible to make a meaningful word with the second, the fifth, the tenth and the twelfth letters of the word 
‘METROPOLITAN’, which of the following will be the third letter of that word ? if no such word can be made give X as 
the answer and if more than one such word can be made, give M as the answer. 
(a) N  (b) Q  (c) T  (d) X  (e) M 

30. If it is possible to make a meaningful word with the first, the third, the seventh and the ninth letters of the word 

SEPARATION, which of the following will be the third letter of that word? If no such word can be made, give X 

as the answer and if more than one such word can be made, give M as the answer. 
(a) O  (b) P  (c) T  (d) X  (e) M 

Directions: in each of the following questions, find which one word can. Not be made from the letters of the given 
word. 

31. CARPENTER 
(a) NECTAR (b) CARPET (c) PAINTER (d) REPENT 

32. KNOWLEDGE 
(a) WEDGE (b) GODOWN (c) KLEEN (d) GOLDEN 

33. PROGNOSTICATION 
(a) RONTGEN (b) START (c) SPITOON (d) ROGATION 

34. CONSTITUTIONAL 
(a) LOCATION  (b) TUITION  (c) TALENT (d) CONSULT 

35. CHROMATOGRAPHIC 
(a) PRAGMATIC (b) PHOTO (c) GOTHAM (d) MARGIN 

 

 

 

ANSWERS 

01. c 02. a 03. d 04. d 
05. c 06. e 07. b 08. d 
09. c 10. d 11. a 12. e 
13. c 14. c 15. d 16. a 
17. b 18. b 19. b 20. d 
21. a 22. b 23. a 24. b 
25. d 26. b 27. b 28. c 
29. e 30. e 31. c 32. b 
33. a 34. c 35. d 36.  
37.  38.  39.  40.  
 


